1.

@ 3x24+T7x+2

@x2—5x+6

@ x24+3x+2

® 2x2 +3x-2

,,
rr
pa)

29

® 2x24+Tx+6

B

D@32 +7x+2=Bx+1)(x+2)
@x2+3x+2=(x+1)(x+2)
® 2x% +7x+6 = (2x+ 3)(x + 2)
@ x%-5x+6=(x—2)(x-3)
®2x2+3x-2=(x+2)(2x-1)




3 o

|
=
+
wW
=
I
—
[N}
m\m
rO
i
Sl
%
9%
1>
rlo
O

® g(x—2)(x—4) @
® %(3x—2)(x+4) @ -
® g(x+2)(x+4)
(A = % (x* +2x-8)
= -2+




3. 2-7x+A7bx-2 2 o] "ol uj, 4 o] Zg Fo1H?

@ @5 ® 3 @ 0 ® -9

2x2 —Tx+A=(x-2)(2x-3) =2x>-Tx+6
. A=6




4. F oA 2 4ax-4=0,4x* +ax-b2 FE2I
[e}

A% a, b AT a+b o g T

D 2 @ 4 ® 6 @ 8

B

¥ +ax-4=(x-1)(x+p)
=+ (p-1x-p

p=41

p—1l=a .. a=3

4x2 +3x-b = (x—1)(4x +q)

=4’ +(q-4)x—¢

-44+qg=3,q9g=7

—g=-b

Lb=T

~a+b=10




5. xof T oA} ex? - 13x-20 & AR5l g Ao] (ax—5)(5x+b)
A, a+b+c o G2?

@® 16 @ 17 ® 18 @ 21 (@)22

B \

(ax = 5)(5x + b) = 5ax? + (ab — 25)x — 5b
=cx?-13x-20

ba=c ,ab-25=-13 , =5b = -20

b=4,a=3, c=15

sLa+b+c=3+4+15=22




oJZFA] x* + Ax+B & 5 &
Z5 Hof (x+4) (x+3) ©] =
(x+1) (x+7) °] Het. v=

A7

@G+ @ G+ E+E) O (x-2)(x-6)
@ (x-1)(x-6) ® (x+3)(x+4)

FA0lE x* + Tx + 12 M BT 12 & FA B,
Aol x4+ 8x+ 7 oA x & Al 8 & A Hylot
THEhA 0170 o] A4 2 X7 + 8x + 12 = (x+ 2)(x + 6)




7. 20+ 1)°-(x-2)" = Bxta)(x+b) B, at3b ] FE THE?

®45 @6 ® 7 @)s ® 9

B

(2x+1)2 = (x-2)?
=(2x+14+x-2)2x+1-x+2)
— Br-1)(x+3)

a=-1,b=3
SLa+3bh=-149=8




8.

x? = 2xy +y? —bx+ 5y + 4 & I5-HloHH?

@ (x-y-2)(x-y-1)
® (x+y+4)(x+y+1)

® (x-y-4)(x-2y-1)

@ (x-y+4)(x-y+1)

@ (x+y-4)(x+y-1)

x2—2xy+y?>-5x+5y+4
= (x-y)?-5(x-y)+4
=(x-y-4)(x-y-1)




[e)

©
ox,
o
_?L
H
Jhu
O
&

ot A, B, C o €92 =5 &AH=Z vIZ27
U

ne do
U
S,
rlo
O

(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




10.

1 1
0<x<l,x——<0,x+->00]22
X X

34/ (=x)% - (x+)lc>2—4+ <x—§>2+4=5




11.

off IL
X, dlo
I
o
1o,
n
e
Mo
=)
>
Q
mlru
nTm

2 5}t o2
= it 19 189 2
y ol g BA2 vepyE?

® 27x?y

L
__9/1 7]

AC=2x+y, AB=2x-y
meb o P9l Holt

2mxy

2x+y
2

Il

2x—y

2

) -




12, oHgHA] 4et - 502 4 1.2 ) A} ] AxbAl0] Bog A% Hafgt. y
o) QapA10] g2

O 2x+1 @ 2x-1 (@)m
@ 6x+1 ® 4x-2

(4x>=1)(x*-1)=2x+ )(2x - 1)(x+ 1)(x - 1)
(A ) =2x+1+2x—14+x4+1+x-1
= 6x




+ V8, y=3- V8L U, (& +y)2 - (x"—y")? ] 2,

@1 @ 2 ® 3 @)4 ® 5

(" +y")? = (2" = y")?

= (Y =P+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3- V8) =1

SA(xy)t =4




14. o34 a®x+1

V47 E 5 Qe AL BE NE ALY

H7]
@ x+1 © a+1
© x*+1 ® a-1
® 6,0 ONONE)
@ ©,6e ® 6,0,




15. 15x7.62-7.42x15 9] Zr&?

@ 55 @ ® 35 @ 15 ® 10

~&B

(£4]) =15 x (7.62 - 7.42)
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